TF Operation with 24 Turns
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If only turn 15 (8A) is not usable, then one could imagine operating the 12 inner layer turns but only every other (12 out of 24) of the outer layer turns (skipping the odd numbered turns). Per the winding pattern shown below, this would mean that 2 of 3 of the turns in each outer leg would carry current. The system would retain its magnetic symmetry and the forces would be balanced. Modifications to the flag-to-flex-to-outer leg connectors would be required to accomplish this.
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